
EE 201 —  HW 7.17  Name__________________________________________

Use AC analysis to find the complex voltage 
for vC2 shown in the circuit at right for 
frequencies of  ω = 103 rad/s, 104 rad/s, and 
105 rad/s.  The amplitude of the sinusoidal 
source is 10 V.  Express the answers in 
magnitude/phase form. 
 
 
 
ω = 103 rad/s : _____________________________________ 
 
 
 
ω = 104 rad/s : _____________________________________ 
 
 
 
ω = 105 rad/s :  _____________________________________ 
 

Write your answers — and whatever work will fit — on this sheet.  Staple any sheets with additional work behind.
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